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Which of the following are the exclusive

powers of the Lok Sabha ?

1. To introduce the Money Bill.

2. To ratify the declaration of emergency.

3. To pass a motion of no confidence
against the Council of Ministers.

4. To impeach against the President.

Choose the correct answer from the code

given below :

Code :
(a) 1 and 3 (b) 1and 4
(c) 3and 4 (d) 2 and 3

Which of the following sea is situated
between Philippines and Vietnam ?

(a) Philippines Sea (b) Celebes Sea

(¢} South China Sea (d) East China Sea

The provision for Anti Defection Act
1s mentioned in which of the following
Schedules of the Constitution of India ?

(a) 9* (b) 12"

(C] 11 (d) 10w

With reference to the Vikramshila University
which of the following statements is/are
correct ?

I. Vikramshila was one of the most
important centre of learning in India
during the Pala period.

2. Rakshit, Virochan, Ateesh., Deepankar
and Ratnakar Shanti were very important
Acharya of Vikramshila University,

Select the correct answer using the code

given below :

Code :

(a) Only 1
(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 2

What was the theme of the 40" Indian
International Trade Fair held in November,

20217
(a) Atmanirbhar Bharat

(b) Vocal for Local
(c) Is of Doing Business
(d) None of the above
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hich of the following staten, -

T t
zngre Cor[‘ECt ? rd
is iwas celebrated on 23 October
. '
jt's theme was Ayurveda for pogp -,
Sélecf the correct answer from the code gi‘;e
] '
pelow :
ode ‘
(?a} ienly (b) Neither ) nor 9
¢ Both 1and 2 (d) 2 only
in which of the following Puranag, the five

-

10.

1.

characteristics of the Puranas are mep,
(a) Vaman (b) Matsya
(c) Vayu (d) Vishny

tioned 7

By which Constitutional Amendment Part IX B’
was added in the Indian Constitution 2

(a) 52™ Constitutional Amendment

(b) 97* Constitutional Amendment

(c) 93 Constitutional Amendment

(d) 73 Constitutional Amendment

Which one of the following States is a leading
producer of diamonds in India ?

(8) Telangana (b} Karnataka

(c) Madhya Pradesh (d) Odisha

In India, the voting age was lowered fn_am
2] to 18 years by which of the following
Constitutional Amendment ?

(a) 56“\ [b] 88t'n
) 72md (d) 61

Knock-Knee syndrome results due to
Pollution of

{a) Heavy meta]

(b) Phosphate
lC) Huoﬁdcs

(d) Nitrate

. 1 f
Baltic Republics do NOT include which 0

¢ following > _
* Denmark 2. Estonia
3. Finlang 4. Latvia

: . code
s.elect the correct answer using g

mnbelow;

f6) 1 4, d4
lang b) 2 an

{c‘zand3 :dj 1 and 3

6.

10.

11.

12.
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(a) 9THA (b) T=g

(c) 91 (d) Fersoy

Wdtg wfaum 3 fra @dwfis gvivas ¥ g

T IX B’ W91 T 7

(a) 52 a7 TAwf® denym
(b) 97 a7 Wuif® dvies
(c) 93 9 WIurlis e
(d) 73 af gaurfis weum
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(a) 56 &
(C]TQEFT

(b) 884l
(d) 614
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(a) Wi U (b) HIThe

(c) FAIEEH (d) T

e TRl § Prefifea § 3 @ wivg
TEE 7

1. T 2. T

3. T 4. wafaE

T2

(@) 1 3k 2 (b) 23k 4

(c) 2 33 (d) 13M3




‘JKQ

13

15.

16.

ped, 4

Which French traveller called Kashi as
‘Athens of India’ ?
(b) Manucci

(d) Bernier

(a) Thevenot

(c) Tavernier

Which of the following App is introd_uegd
by the Election Commission of India in
October, 2021 for digital mapping of all
polling stations ?
(a) Arjun App

{c) Trishul App

(b) Chatbot App
(d) Garuda App

Match List - I with List — II and select the
correct answer from the code given below
the lists :

List - 1 List - II

(Blue Flag Certified (Location)

Beach)

A. Ghoghla 1. Andhra
Pradesh

B. Kasarkod 2. Kerala
C. Kappad 3. Karnataka
D. Rushikonda 4. Diu
Code :

A B C D
(a) 4 3 1 2
)4 3 2 1
©3 4 2 1
(d) 3 4 1 2

Match List — I with List - I and select the
correct answer from the code given below
the lists :

List - I List - II
(Code) (Year of
Introduction)
A. Code of Civil Procedure 1. 1862
B. Indian Penal Code II. 1859
C. Criminal Procedure Code IIJ. 1861
D. Police Act IV. 1860
Code :
A B ¢ D
(@ I 1V 1 111
(b) M1 v 1 I
() I 1Im 1v |
d v 1 11 11

13.

14.

15.

16.
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A. Trge 1. Y 9
B. FTHHIS 2. WA
C. HWE 3. HARH
D. ¥3mhiet 4. 49
2
A B C D
@4 3 1 2
4 3 2 1
(c} 3 4 2 1
d3 4 1 9
@j‘lﬁﬁiﬁﬁlﬁﬁﬁ%HWw;ﬂ%ﬁ
F f f@ m %2 ¥ T I T
;f;ﬁg"l gt -1
.. 1)
A. IS 3% Rt seftor I 1862
B. gzqqaﬂwm it 1566
s %m i g 1. 186]
;jf e IV. 1860
'ﬁ B C D
(El) II IV 1 I
) W v o
(© I m v
d v I I
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@ Which of the following pairs repreg
(|7

19.

a,

; ) £nt Un;
¢ the same physical quantity ity
0

(a) Kelvin and Joule

{b] Newton and Calorie
o Kelvin and Calorie

(d] Joule and Calorie

i he following Art;
which of t ; g Article o,
provision that “the law declare q byal:;:s
supreme Court shall be binding o, all t]ie
Courts within the territory of Ingjq» e

?
(b) Article 143
(d) Article 141

(a} Article 140
{c) Article 142

with reference to Delhi Sultanate consider
the following statements.

1. Sultangarhi was built by Sultan lltutmish,

2. Located in Delhi, it is the first tomb
built by Turks.

Select the correct answer using the code
given below :

Code :

(a) Only 1

(b) Neither 1 nor 2
(c) Both 1 and 2
(d) Only 2

In which of the following States of India
‘Chitrakote waterfall’ is located ?

(8) Uttar Pradesh

(b) Jharkhand

] Chhattisgarh

(d) Madhya Pradesh

'.wlho s tho following is the Chairperson
O GST Council ?

ﬁ“\(a] Pmsident

~ B Deputy chairman of NIT! A8

e - :
,;C) Umon Finance MinisteT
8 Prime Minister

-5-
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(c) et T Fard

(d) 1 T Her
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(a) 313%3 140 (h) .313—@.\ 143
(c) =] 142 (d) =g 141
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He

(a) Fered

(b)Fd 13T 2

(c) 192 2 SH

(d) Thae 2

‘Fesie JayE’ wid & FEfefa st o @

forad safera @ 2

(a) IR T

(b) FETE

(c) BetETg

(d) FET W
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BEEARRERLEL
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22. What is the rank of India in ‘GloP2

Mt

ix

23.

24,

25.

1 Food

Security Index, 2021’ ?
(a) 54
(b) 83
(c) 71
(d) 62

In the battle of Chandawar (1194 CE) King

Jaichand was defeated by Muhammad Gcn“1.

Present geographical location of Chandawar is

(a) Etawah district in U.P. at the bank of
river Yamuna

(b) Varanasi, U.P. at the bank of river Ganga

(c) Kannauj, U.P. at the bank of river Yamuna

(d) Prayagraj district in U.P. at the bank of
river Yamuna

Match List — I with List — Il and select the

correct answer using the code given below
the lists :

List -1 List - II
A. Acetic acid 1. Ant’s sting
B. Lactic acid 2. Spinach
C. Formic acid 3. Vinegar
D. Oxalic acid 4. Curd
Code ;

A B C D
(a) 1 2 3 4
M3 4 1 2
(c) 4 3 2 1
2 4 1 3

Which one of the following is NOT correctly
matched ?

(a) Shaukat Usmani - Kanpur

Conspiracy Case
Assembly Bomb
Case

Kakori Train
Robbery Cage

Chatgaon Revolt
Case

(b) Khudiram Bose

(c) Ashfaqullah Khan

!

(d) Surya Sen -

22,

23.

24.

25.
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(a) 54

(b) 83

(c) 71

(d) 62
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(a) 3.%. % gera1 FF9E § TGN A F T W
(b) TRTORR, 3.5, F T TG % A W
(c) =i, 3.9, § 9T A T W
(d) 3.9. % TATRIS A99E H AT A€ F w2 7

gl - 1 g - 18 gafea Hif aw g

% 2 fed ™ %2 @ g I gtA

Tl - 1 g - 11
A. TfeH Iva 1. i % 55
B.ﬁ%m 2. 9Id%
C. B 31 3. Ry
D. IR 30 4. <@
2
@)1 2 S
(c) 4 3 2" 1
@2 4 1 4
ﬁqﬁa%aﬂéﬁqqmmgaﬁ ey
(a) ¥R Twyr - S
(b) G g N
(c) FBIFeATR w&f “Wiﬁﬁ?ﬁ
(d) wEa 3 e 7T
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R .
g’ late the capacity (vehicle per
calct

: ; . u
when reaction time of the g T) of

the roﬂ?is The design speed is 80 kny, Ve'r is
9 secon length of the vehicle is 6 T“‘nﬁ
avera8® U of faction is 0.35. ake
Oef%‘g (b) 724

((ﬂ: g - (d) 653

C

e intensity of rainfall is mqre 4y
- ifiltration capacity of soil, thep, the
:nﬂltrﬂtion rate will be

) equal to rate of rainfall
(b) more than infiltration Capacity
(c) more than the rate of rainfall

(d) equal to infiltration capacity

An approximate value of the drag coefficient

of a hemispherical parachute is
(a) 2.35 (b) 0.07
() 0.30 (d) 1.33

The natural process under which the flowing
river water gets cleaned, is known as

(a) Self-purification
(b) Oxidation
(c) Photo-synthesis

(d) None of these

Ifin a gradually varied flow dy/dx is positive,
then dE /dx

() is negative, if Y > Ye

b) is always negative

l0) is always positive

@) is positive if Y/ Ye > 1

oil is 25% I8

The field capacity of 2 S d specific

:penl'l&nent Wllt_lng point is ]5'3/0 anth i
&Y unit weight is 1.5. If the depe capacity
#ne of crop is 80 cm, the storag

Sthe soi] 5
l&] 8 cm (b) 14 cm
812 om (@ 10¢m

-

26.

27.

28.

29,

30.
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¥ I 1 A 0.35 8|
(a) 600 (b) 724
(c) 700 (d) 653

afe 9ul (rainfall) & disal gal ¥ <8
(infiltration) Tf&an & it 2, @ A W
Sl

(a) T Tk S

(b) AT afgar 9 Afies

(c) T9u1 R | ik

(d) 3F=:E TfE & GHH

& Y TeNHR TTE F 30 (drag) oM B

FTRE o= B
(a) 2.35 (b) 0.07
(c) 0.30 (d) 1.33

a1 wigpferes faftr Rred sran ganm T =1 I 1%
B I 8, FEd @

(a) TEEIEA

(b) 3TTE(HTOT

(c) TEhTRI-HYSAT

(d) 398 | I3 T8

afe it fir wee 3 dy/dx 91096 &, Q1 dE/dx
(a) TTeH 11 @ Afg Y > Ye

(b) BHIT FHOTCHS BT 2

(c) §HA GATeHH B B

(d) GATcHe BIdT & Al Y/ Ye > 1

TS e 6! & &HA1 25% §, F9h el Rrfrear
firg 15% 2 ok fafdre s 3té W 1.5 3 afe
foret e % 2 8 R TR 80 om R, A
1 TSRO & ]

() 8 Tl (b) 14 Tt

(c) 12 qft (d) 10 &=



33.

34.

35.

36.

37.

38.
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ible by a
In GIS, interpolation is made pOSSlb y
principle called,

(a) spatial auto correlation

(b) Thematic auto-correction

(c) Thematic auto correlation

(d) spatial auto-correction

A 4 hr. storm with a uniform intensity of
1.5 cm/hr produced a runoff depth of 40 mm.

The average infiltration rate during this
storm is

(@ 4 mm / hr
(c) 6 mm/ hr

(b) 7 mm/ hr
(d) 5mm /[ hr

In a rectangular channel, if the critical depth is
2.0 m, the specific energy at critical depth is
(a) 3.0 m (b) 2.5m

() 2.0 m (d) 1.5m

The alum added as a coagulant in water
treatment functions when the raw water is

(a} Acidic with high turbidity
(b) Neutral with low turbidity
(c) Alkaline with high turbidity
(d) Acidic with low turbidity

Salinity of water

(a) Increase evaporation

(b) Does not affect evaporation
(c) Reduces evaporation

(d) None of the above

Which of the following methods of designation
of crossing is mostly used in Indig 7

(a) Centre line method

(b) Isosceles angle method
(c) Right angle method

(d) None of the above

The time scale ratio for a mode] based an
Froude law criterion in terms of length scale
ratio Lr is

(@ Lr (b) Lris
1
o Y @ Jir

32.

33.

34.

35.

36.

37.

38.

GEGIETIC R
anH aEe E[Haa' (inﬁltratirml

b) 7 s /g

a-c .
8 4 Bl d) st /g

(c) 6 fuft. / ger

T ARIATRR e 8§ 9T shifde TEUS 2.0, &
ait e Tewd W ffire e 2

(a) 3.0 7. (b) 2.5 .

(c) 2.0 . (d) 1.5 4.

el 3T & oI Tohees & &9 9§ i 78 fresr
afea %M N & T Fea1 o 2 '
(a) I=T TEATH &% FIY g
(b) = TISATH F FY Il
(c) I=4 TEATTH F Y &g
(d)%m%mm

9l § SO (Salinity)

(a) TR T R

(b) ATSHHT B 1l 7 ey

(c) TR 7 ey 2

(d) ITF H § Hif 7y
Wﬁﬁ?—m;ﬁfﬁnaﬁm )
(a) = Y@ fafy T &

(b) BHfEE Hoftg fyfy
(c) TuRIvfiy fyfy
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e

hofs ;

o 1o Lacey, dept courin 4 .
Accnr(;l;:lﬁpon the Stralghtl? ess of the rez\’il'
depe” the depth of SCour in regime ﬁOwC- .

is bend, then it is equg) to In
(b) 2.00 D

(d) 1.50 D

pine develops 2515 kW at 240
&: ::rrque in the shaft is Pm,

(@) 400 kN-m (b) 100 kN-m
(¢) 1000 kN-m (d) 3335 kN-p,

Aliquid flows in a 30 cm diameter
a Reynolds number of 10°, If the
factor is 0.025, _the thickness of |
sublayer, in mm is
(a) 0.025
(c) 0.062

Pipe at
friction
aminar

(b) 0.0031
(d) 1.00

The following surveys are conducted before
the alignment of a railway track.

1. Reconnaissance survey
2. Preliminary survey

3. Traffic survey

4. Location survey

The correct sequence in which these
surveys are conducted is

8 1,3,2,4
[c13,1,4,2

The velocity distribution over one half of a

tross section is uniform and is zero over the

fmaining half. The momentum correction
or for this cross section is

(@ 2.0 (b) 3.0

G10 (@) 4.0

Which of the following is NOT a method bsee
for plane table surveying ?

8 Back scattering method

W Radiation method

gl Versing method

e "htersecﬁon method

O8Y is the study of

EWtonian fluids
Nﬁn-Nm

onian fluids
& eal fiyig

39,

40.

41,

508

43.

44,

45.
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A * IER, T § wan & TEE g A
defien ® PR R ) R gEem WS |
Woftm yars § IR f Teud R, AT
¥ TR B

(a) 1.25 D (b) 2.00 D

(c) 1.75 D (d) 1.50 D

T CEiEd 240 IM A wn. w 2515 famare
T es@ gl TR ATHE =T a R
(a) 400 kN-m (b) 100 kN-m
(c) 1000 kN-m (d) 3335 kN-m
Fiegd &A1 10° W 30 Gt =/ & iy A T
T T7A 21 Il w90 FRE 0.025 B, 4 fir. ),

T iR i Wer 2
(a) 0.025 (b) 0.0031
(c) 0.062 (d) 1.00

T 3% % T@u A ggs Frafafaa gdem fed
STd 8|

1. 38 gz

2. YRR wa&u

3. ITAWATd Haa

4. TN GAHU]

TE 0 e 3 wde fro o @
@1,3,2 4 (b) 3,1, 2, 4
) 3,1,4,2 d) 1,3,4,2

U PRI e o A M W AT e w g
8 I AV I WM W R W IR W

< fore dom gum @ 2

(a) 2.0 (b) 3.0

(c} 1.0 (d) 4.0
ﬁtrﬁaﬁaaﬁﬁﬁq—m@q—%aaﬂéwﬁﬁﬁ
& for w7 B @ o

(a]%ﬁﬁzﬁf]ﬁm

(b) fafSo1 (Radiation) fafy
(c) ATEIREA (Traversing) fafty
(d) freser (Intersection) fafy

Raerist & e
(a) AR ata

(b) A -=ifem =

(c) e T

(d) 78 & i
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47.

48.

49,

50.

51.

52.

" fa)iandii

oes NOT depend

The flow velocity in a sewer d
on

(a) its grade

(b) its roughness

(c) its hydraulic mean depth
(d) its length

Errors arising from carelessness of the
observer are known as

(a) mistakes

(b) systematic errors

(c) compensating errors

(d) discrepancy

Which amongst the BOD and COD of glucose
water is greater ? -
(a) BOD

(c) Both are equal

(b) COD
(d) None of the above

As per IS 10500 : 2012, the maximum
desirable limits of iron and fluorides for
drinking water are

(a) 0.3 and 0.5 Mg/L, respectively
(b) 0.5 and 1.8 Mg/L, respectively
(c) 0.3 and 1.5 Mg/L, respectively
(d) 0.3 and 1.0 Mg/L, respectively

If the base period is 100 days and the duty
of the canal is 1000 hectares per cumec, the
depth of water will be,

(a) 0.864 cm (b) 864 cm
(c) 86.4 cm (d) 8.64 cm

Zero hardness of water is achieved by
(a) Using lime soda process

(b) Using excess alum dosage

(c) Ion exchange method

(d) Excess lime treatment

Switch angle depends upon
i. Heel divergence
ii. Length of tongue rail
iii. Flange way clearance
iv. Throw of switch
The correct answer is
" (b) iandiv-

(c) iii and iv (d) ii and iii
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46.

47.

48.

49,

50.

51.

52.

(a) 0.3 3 0.5 fa.an. /<.
(b) 0.5 3 1.8 T /<f.
(c) 0.3 3f 1.5 faam. /<ft.
(d) 0.3 3R 1.0 fr.am. /=i,

7 F7 H FE (Duty) 1000 BRI /FGHF T
e 100 167 2, @ ot Y o gt

(a) 0.864 8.7, (b) 864 T .1,
(c) 86.4 B3 (d) 8.64 J.1.

(@) TR Bret Tty sy a5y
(b) 31Tk el wr Iuainy o3
(c) I Tt fafy

(d) etk I Ioam w5y

ﬁ%ﬁraﬁﬂlﬁﬁtwﬁ

ii. &)
iii.ﬁaw;ggm
iv.%ﬁw%

g 9 @

(@) i 9T i (b) i
(c) iii TYT iv Q) iiwlﬁ_
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“ hvdrograph. isolateg Stor
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33.

54,

256,

S57.

58.

59.

_J. Ogresﬂmed as
B e (b) comple
al g-curv q X Peak
(c) mult peas (d) single peg),
the recirculation ratio ip _
54 :;-];glmg filter is unity, then the reii};éi}; rate
i ation
tor 15
;‘:’clo (b) zero
fc) less than - (d) more thap 1
. camber provided on a slgn;
5. '{'I:i 48. Which one of the fgﬁg}):\ﬁ% road ig
ruling gradient ? B 15 the
@) 1in 15 (b) 1in 30
. @12 @) 1in 20
56, Which one of the following meth
be employed for plastic and rypy, ods can
disposal ? €r waste
(a) Sanitary landfill
(b) Incineration
() Pyrolysis
| {d) Composting
5. The product of traffic densily and traffic
speed is termed as
(a) Traffic volume
(b} Basic capacity
[¢) Traffic capacity
(d) None of the above
8. :
f;rf&mera equipped with a 152 mm f{_)ca]
-hgth lens, is used to take a vertical
Photograph from a flying height of 2780 m.
:’iove mean sea level. If the terrain is flat
pht;an elevation of 500 m, the scale of the
= 0t0graph will be
(F} 115,000 (b) 1:24,500
® 1:22 000 (d) 1:20,000
B N |
DgeT tQ.WhiCh properw Of mel‘Cury, 1t dOes
M Stick to glass ?
Viscosi
ty
m AdheSiOn
o sulfaCe tension
-11-
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U EESITE W U g /qEH & Neiid R
ST 2

(a) TH-TR (b) Tirfdra RrEr

(c) 5§ Tt (d) e R

ofy seaet fewfem oma 3 q: afw=Ro Sdd
ﬁ@%,?ﬁﬁzqﬁwiﬁmﬁl’ﬂ

(a) 1 (b) A
(c) 18 %A (@) 1% feres

T B HSh T et 48 ¥ 1 garal A1 B, @
T fore frafia stfuepan gom @

(a) 15 1 (b) 308 1

(c) 24 1 (d) 20 1

SR qe T F Srfre % froem % farn
- faftr i enmen s T 2 7

(a) Bt yfty we

(b) 3 €&

(c) UTEIiTEg

(d) @rg fmfu

AT Tl 37 aemame <6t ift & oM (3w
1 g1 i S 2

(a) FTAEATE 1 HEY

(b) T &\l

(c) ATAR i aqwran

(o) v § 2 P

15213\:1;1’1.@@%‘21%\%@@%%%3@11
Hgaaaaﬂaﬁaasﬁmsorﬁ.?ﬁa*méﬁw
?n‘ca‘imaﬁﬁ{@ﬁ%;%qﬁﬁmw%la&w
W%aﬂisoorﬂaa‘ﬁ"mﬁm—@a% @
BIRIUTE i el it ,
(@) 1: 15,000 (b) 1:24,500

(€) 1:22,000 (d) 1:20,000

S 3 o ) |
_gr{? H I TR, 78 Y T Ry
(a) T
(b) 3TTESH

(c) HET

(d) T3 a1




A1 A

60. If the sequent depth ratio of a hydraulic

61.

62.

63.

64.

65.

66.

jump ina rectangular channel is ]6-48.! the
Froude number at the beginning of the jump
is

(@) 5.0
(c) 10.0

(b) 12.0

(d) 8.0

If the impeller of a pump receives liquid on
both of its sides the pump is known as

(a) Single stage pump

(b) Double suction pump

(c) Single suction pump

(d) Double stage pump

The minimum size of grit particles that can
be removed in grit chamber is

(a) 0.05 mm (b) 0.50 mm
(c) 0.20 mm (d) 0.10 mm
What is the relationship between the flying

height (H), the focal length (i), the air base
(B) and the photo base (b) ?

@) B=— ) B=1
b.H b.f
© B-2 @ B=24
f.H f

The lost time due to starting delay on a traffic
signal approach is noted to be 3 seconds.
The actual green time is 25 seconds and
amber time is 3 seconds. How much will be
the effective green time ?

(a) 19 sec. (b) 35 sec.

(c) 29 sec, (d) 22 sec.

An angle measured with theodolite is o with

weight 2. The weight of % will be

2 4
(a) /4 0) 2
(c) 2 x 42 (d) 2 x4

According to recommendations of the Nagpur
Conference, the formation width of an Ideal
National Highway is
(@ 12 m
(c) 09 m

(b} 07.50 m
(d 13 m

60.

G6l.

62.

63.

64.

65.

66.

-12.

M,

e ITT P iz,

U mwaz; £ ﬂ_{;mﬁm (Froyg,,
Tl'ﬁﬂ—g 16.48 %r

106 Sy

i 5 st 3 T G T T
gfe e T .

?Fﬂ %, 1 g @l av'ﬁ'a %

() Udkd WA TH

(b) Tz =oor 7vd

(c) Uhed 0T 9

(d) Tg == 71
ﬁz%mﬁn@anmﬂwﬁ;zwﬁa‘rmw
T Hehdl 8

(a) 0.05 T,
(c) 0.20 fa.4t.
T3 S (1), AR (focal) GO (9), 7S 37
AU T FTUN (b) H 7T §EY E 7

(b) 0.50 fa.d.
(d) 0.10 fa.4r.

f H
(a) B= —— (b) B=——
b.H b.f
) B=2 [a B2
I.H f

U A Fhd ¥ Y6 o4 9T OHg 9% 7
3 Ueh=g e foran | Tl w1 g 05 gt
A1 R T 3 AT B A w0 wa s o
arm v

(a) 19 H.

: (b) 35 4.
(c) 29 4.

(d) 22 4.

ﬁa@a@aawmnaaﬁmm 5 3 gy B

1%L % 0w ww gy

(@) ‘24 (b) .;_

[C) 2 x 42 {d) 2 x 4

B SEs el H}:ﬁﬁ"f £ . 114
o & Pt o g o
(a) 12 . (b) 07.50
SR (@) 136



68.

69.

70.

1.

72,

. the theoretical Maximy,
for a single lane of high\\’a\r i [liu
f the traffic stream is 40 L{ml:ih g

10 units)

{up.'u‘il_\
spt't‘d of !
[ruund oft
a) 3000 vehicles/hr.
(b) 2010 vehicles/hr.
(c) 2510 vehicles/hr.
(d) 2860 vehicles/hr.

Benkelman beam deflection method is useq
for design of

(a) Rigid overlays on rigid pavements

(b) Flexible overlays on rigid pavements

(c) Flexible overlays on flexible pavements

(d) Rigid overlays on flexible pavements

The discharge through a V-notch varies as
(where, H is the head)

5/
H 4
3
H- 2

a) H'2 (b)

(c) H# (d)

If the reduced bearing of a line AB 1s N60°W
and length is 100 m, then the latitude and
departure of the linc AB will be,

(@) + 50 m, + 86.6 m

(b) + 70.7 m, - 50.0 m

(c) + 50 m, - 86.6 m

(d) + 86.6 m, — 50.0 m

al velocity of flow 1n a

ding to Kennedy, its silt
portional to

If 'V, is the critic
channel, then accor
transporting power 15 pro

[a) VO.-" 2 VO
(c) VO ;2 (d) VO"

The similarity petween the forces of model

and prototype 1S
(a) Dynamic similarity
(b) Design similarity
(¢) Kinematic Simila_my
(d) Potential similarity

-13-
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069.

70.

71.

72,
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Ueh Ushei-9Y a5 o ST Heaw G T
@Tﬁﬁﬁﬁam@ﬁwaﬂqoﬁiﬁ./ﬂ'ﬂ% ?
(g8 g2 & T )

(a) 3000 ATEA /T

(b) 2010 FTEA /=T

(c) 2510 A& /5]

(d) 2860 dTEH /H2T

e o fadmu £ fafu frm F aAfered E2
fag

(a) T FigH T FST AT

(b) FER FlFA T T

(c) TFI IEW LA AT

(d) T FEA T FHSH T

o v-Ata & Frema FemEEn 2 R
(sl H o 2)
1/ 5/
(a) H/2 (b) H/?
. y
(c) H? d) H'?

ofe Y@ AB & freg@ feem™ (Reduced bearing)
N60° W B @1 wrars 100 . B, 91 AB @1 I

-

éﬁ@ (Latitude) a1 feur=i (Departure) T
(a) + 50 H., + 86.6 1.

(b) + 70.7 ., - 50.0 .

(c) + 50 Hl., - 86.6 .

(d) + 86.6 #., - 50.0 1.

aﬁ‘vt]’ﬁﬁﬁaﬁmwmﬁaﬁéﬂ%,
A WIS ER I MR (silt) e wfw
guFaTd gl 8

1/
a /2
(a) Vo

7/

b 7 2
(b) Vy

) v 72 @ v 2
C ¢ ;.
Vo Vo

Hred 3 Yidersy & Sl (forces) ¥ < guEar B
(a) Ticefier GHEdl

(b) fesga g

(c) TITdst THTH!

(d) TTT FHAAT
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73. Ifthe base period of a 6 hr. unit hydrograph

74.

75.

76.

77.

78.

of a basin is 84 hr. then, the base period of

a 12 hr. unit hydrograph of the same basin
will be

(a) 90 hr.
(c) 72 hr.

(b) 168 hr.
(d) 84 hr.

The pressure in “Pascals” at a depth of 1 m

below the free surface of a body of water will
be equal to

(a) 1 Pascal

(b) 9810 Pascal
(c) 981 Pascal

(d) 98.1 Pascal

With reference to lining of a canal which of
the following statement is/are correct ?
i. It is necessary to minimise the seepage
loss in canal.
ii. It increases the discharge in canal
section by increasing the velocity.
Select the correct answer using the codes
given below :
{(a) Only i
(c) Both i and ii

(b) Neither i nor ii

(d) Only ii

In a sudden contraction, the velocity head
changes from 0.5 m to 1.25 m. If the

coefficient of contraction is 0.66, the head
loss in this contraction is

(@) 0.133 m (b) 0.648 m
(c) 0.644 m (d) 0.332m

A manhole is generally classified as a deep
manhole, if its depth is more than

(a) 0.6 m (b) 3.0m

() 1.5m d) 1.2m

Bourdon gauge measures

(a) absolute pressure

(b) standard atmospheric pressure
(c) local atmospheric pressure

(d) gauge pressure

73.

74.

73.

76.

77.

78.
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i 5 692 T T 1

84@%3‘1! ]Qw

vy it AR & RECET
(a) 90 T (b) lﬁs.w
(c) 72 =T (@ 845

Foeh ret forr o 7 e @ 1 7. A <
o e & g % S BT

(a) 1 WA

(b) 9810 TS

(c) 981 UTEHH

(d) 98.1 YRRt

Th TR ) AR % i F HH-A F
agl g ?

i. T Raa % M B FH FAT S 2
ii. 97 " AR @-8 1 fAdgT &l @ )

A fed T HIE WA R FE I R G
(a) heael i (b) T ali 3T i
(c) i Wd ii g (d) e ii

I IF=H (contraction) & 3 v 0.5 . &
1.25 Hl. TF ST A ]| HFeH 1 U0 0.66
21 39 gpr ° o 6wy 2

(a) 0.133 H1. (b) 0.648 .
(c) 0.644 . (d) 0.332 .
U AR Bl SR WU T ey & w0 3

wffepa foben wman 2, AR T 3
arferes 2| e

(a) 0.6 HI, (b) 3.0,
(c) 1.5 (d) 1.2,
ST A AT ?

(a) 9 <414

(b) HFeh AHSTHA <aTe

(c) TR IrgHESeE T g

(d) T guT
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7Q,

80.

8l.

82.

83.

84,

85.

which of the following 1is dimension]eSS 5
(@ gpecific wcig.ht

(b) specific gravity

(c) gpecific viscosity

(d) Specific volume

Geostationary satellites have,

(a) same distance from earth’s centre
(b) same angle with geodetic stationsg
(c) same mass as global weight

(d) same speed as earth’s rotation

Various water treatment processes are listed
below .

1. Filtration

2. Chlorination

3. Sedimentation

4, Coagulation

5. Flocculation _

The correct sequence of these processes in
a conventional water treatment scheme is
(@ 5,1,2,3,4 (b) 1,3,4,2,5
c)3,4,5,1,2 (d) 4,5,3,1,2

According to Indian standard, the number
of rain gauge stations for an area of
5200 km? in plains should be

(a) 10 (b} 25

fc) 20 (d) 15

While testing for COD of sSEWage, organic matter
is oxidised by K,Cr,0, iR the presence of
(a) HCI (b) HNO; i

(c) H,SO, (d) None of these

ock 2 m long, 1 m wide and
n water. The depth of
If water weighs 10 kKN/m?.

A rectangular bloc!
1m deep floats !

i o is 0.5 M. ;
immersion is 0 o the Plock i

Then the weigh
(@) 5 kN (b) 20 kN
@) 15 kN (d) 10 kN

gulus’ is an index of measure
wrack MO ;
e of the LlOWing ¢
of W™ ance du€ to friction
() Resi® hce due to rolling
(b) ResiS™ " que to deformation

:;% gzziiztaﬂce due to shear
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79,

80.

81.

82.

83.

84.

85.
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Fefefaa & 4 # s 2 2
(a) Trftrse &=

(b) fafire &g

(c) fafirse famfauree

(d) farfrse Amn

iR 3uwEl # g B

(a) 32t % g @ gOW gl

(b) R Rydl & wry gum &
(c) AfFTH VR & HIM ZeadH

(d) T2 % T o gaE T

fafty= et e sfamd S e @)
1. Freaer

9. TR

3. IS

4, @heA

5.

Qs St Mg dr § 38 TR w1 wEl
ELR

(@) 5,1,2,3,4
() 3,4,5,1,2

(b) 1,3,4,2,5
dp=4, 5,3, 1,2

WG AT 6 FIER, 5200 5 .2 goasr €9
¥ fore, e WA (auigme) @A B0 7

(a) 10 (b) 25

(c) 20 (d) 15

Herwe % COD ¥ whem # s+ qerd
K,Cr,0, & s & ¢, fret i sufeufa 3
{a) HC1 (b) HNO,

(©) H,S0, (@) TR & 3

T FEaER fve 2 Wt =, 1L =g @
1. Trew i # e 2, gl g ewd 0.5 7R, R
g qrft 1 R 10 kN, @ AUE &1 R RRa
B ?

(a) 5 kN
(c) 15 kN

(b) 20 kN
(d) 10 kN

i § A ferae gE® & <3 HigeR™” 7
(a) HUT % HIOT Y

(b) TGHA F U Y

() THId F HT HqY

(d) HTTEYUT & HAOT NG



80.

88.

89.

0.

ol.

92.

1 to

Exit gradient is directly proportlona

(a) Seepage load

(b) Creep length

(c) Depth of cutoff
(d) None of the above

The Bernoulli’s equation is applicable only
for

(a) Irrotational flow

(b) Compressible flow

(c) Inviscid, incompressible flow

(d) Viscous flow

The Buckingham-Pi theorem is widely used
in the dimensional analysis and expresses
the resulting equation in terms of

(a) the repeating variables

{b) n dimensionless parameters

(c) (n-m) dimensionless parameters

(d) geometric, kinematic and dynamic
variables

Creep is the

(a) longitudinal movement of rail
(b) difference in level of two rails
(c) lateral movement of rail

(d) vertical movement of rail

For non-passing sight distance, the height
of stationary object considered is

(a) 10 cm (b} 65 cm

(c) 30 cm {d) 15 cm

Muskingum method of routing satisfies the
equation

(aC,+C, +C,=0

)€, €, . C,=1

() C,+C, +C,=1

(d) None of the above

If a 2% solution of sewage sample is incubated
for S days at 20°C and the dissolved oxygen
depletion is 10 mg/L, then the BOD of the
sewage would be

(a) 50 mg/L (b) 2000 mg/L

(c) 500 mg/L (d) 200 mg/L

87.

88.

89.

S8

91.

92.
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ent) -{fﬁ} m?

(c]aﬁaﬁfﬁ‘cﬁmﬂ

() TTF & & HIS T

aeieh 1 e A
I A

(a) SIETA YATE

(b) ddifza yama

(c) Sfafaz, srEfiisd T8

(d) Faafa y=mR

ST Fvergur & aTfRIH -9T8 THE F ST =
éwmm%ﬁqﬁmﬁrmﬂﬁn
®q § =aFd Il 2 7

(a) BT FH T =

(b) n 3¥mm TfEa Ji

(c) (n-m) 3T Iaa R

(d) safudta, nfes 3R iasie =T

EIRRS

(a) Yot 1 @At T

(b) & 11 & &R H e

(C)iﬁﬁmﬁféﬂ%ﬁ%

(d) & i Tew

gfedia gft & fore, TR awg < Famd o 9 ¢
(a) 10 9.4t (b) 65 9.4

(c) 50 .4, (d) 15 ¥4,

wfon 1wt oty wieo w9 bqe w5 @
(@) C,+C,+C,=0

(b) C,.C,.C, =1

(€ C,+C +C,=1

(d) IRdd F F HIE 3

AT T H 2% Hid 5 foq % fayg 20°C @
FTHEE H W aATRfieT Y wift 10 fym /o
?, @ e &1 BOD &rm

(@) 50 T, /<f. (b) 2000 far.am. /0.

(c) 500 fram./eh.  (q) 200 far. /<h.
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95.
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97.
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] wice, which can be used . - el
F;:;;i;las well as particulate goliit(;?ft‘“'."l g3 q8 @A frad W & 9 'aﬁﬁiﬁm ﬁ; ga@ai%
the industrial emissions is known as i sirenfieR Jegaa 9 fg=ro Sl B, &
(a) Spray tower o (a) w Tal
(b) Dynamic precipitator (b) nfeasie R C LRED
(c) Fabric filter (c) FIST Jfe e
Cyclone
o) = (¢) TFH
gurface tension for an ideal fluid is o e el T erd & fere T 7 (Surface
(a) dependent on temperature tension) 8
(a) AT H fof s B
(b) zero
S (o)
(c) infinite () 3
(d) one (d) TF
If the length of a chord/arc is 20 m ina| 95 uf el T # =g /< eArs 20 H1. 2,
%u'weththcn the rfeﬁaélonship between R and 56 W1 efemE 3R m/ﬁgjﬁ # g grEey B
e curve will be L S .
" & srdeama R @@ fel D 27
573 1718.9
=" " bl R= 573 1718.9
B D ! D (a) R=—[—)-— (b) R**——D—"
1146 1146
() R=1146D @ R=—0~ (c) R=1146 D (@ R=-——
A check dam is a 96. U ﬂa; E’Iﬂ (check dam) ﬁm %
(a) flood control structure (a) @TG FErmT HTHT
(b) water storage structure (b) SIS '-Fl'{‘EH'I
(c) river training structure (c) 7@ Hﬁl&ﬂ'lﬂ AT
(d) soil conservation structure (dl) &1 TEOT T
The unit power P, of a turbine developing a | 07, THEH S T T yradt p frerfia 1 areft
power P under a head H 18 equal to e 1 3 v P, A & gt
P P
2 P _
{a) (b) —3/ (a) 5/ (b) 3/
© pu’2 @ PYH (©) pH? @ PVH
The critical condition for stability of slope of | 98. @ Bl ¥ afa ¥ 39 ©W F T f R
an earth dam at down gtream Wil 1 MR feafa @"ﬂ qfa
(a) Reservoir empty with max. secpage
(b) Reservoir full without pore Water (a) St i 3 Hrer I W
”Pfeﬁsure - (b) farm 9 ST h ST W I
€) Res : ; ax. percolation ) .
Reservoir full with m (c) ITferpaH TR 3 T AR W g
(d) None of the above (d) I0e o | HE T
-17-
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100.

101.

102.

103.

104.

105.

vy

A s - process”
Recirculation in “Activated sludge P

is done to

(a) Dilute the incoming sewage

(b) Supply seed to the aeration tank

(c) Operate the plant continuously o

(d) Dampen the effect of the flow variation
~ations for

Which one of the following specific
d order

the length of base line refers to “thir
Triangulation” system ?

(a) 0.5 to 3.0 km

(b) 10 to 20 km

(c) 5.0 to 15 km

(d) 1.5 to 5.0 km

The tower’s used in triangulation are Known
Bv

as
(a) Heliotropes (b) Hunter

(c) Captain McCaw (d) Bilby

The water balance equation for a catchment
area in terms of rainfall (P), runoff (R),
evaporation (E) and storage (S) is written as

(a) R=P-E£aS
(b) P=E-R*AS
(c) R=E-P*AS
(d) R=P+EzxAS

If the width of the highway is 10 m and
its outer edge is 40 cm higher, the super
elevation is 1 in

(a) 50
(c} 25

(b) 20
(d) 40

The observation of two photographs
simultaneously is called

(a) orthography (b) stereoscopy

(c) spectomy (d) spectrometry

Following errors are eliminated during
reciprocal levelling

(a) errors due to curvature only
(b) errors due to line of collimation
(c) errors due to refraction only

(d) error due to all above

99,

100.

101.

102.

103.

104.

105.
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Tl Bt T — - r

. R B 2
s we fY ignm
la]mnﬁﬂaﬁ @ &
o) e 2 8 T
(c) TeTe @Y AN <) F
(d)mqﬁaﬁ?%wﬂa P
e oo gy 3 RIS
Bt =nfee
(a) 0.5 & 3.0 f&.H1.
(b) 107 20 fr.A.
(c) 5.0% 15 f&.4.
(d) 1.5 3 5.0 f.H0.
ﬁwﬁaﬁﬂﬁmﬁﬁmﬁaﬁ%
(a) BT (b) EX
(c) B BFha () Ferell

a5t (p), ST (R), SR (E) 3 ST ()
3 g A SremrE 8 % R ST HgeH FHIRT
¥ w9 § ferar wman B

(a) R=P-E*AS

(b) P=E-R*AS

() R=E-PxAS

[d R=P+ExAS

afe gommt # e 10 M. ¥ it W fE
40 8.1 ?ﬂﬁ'q"' %, A Al I (super elevation)

H 132
(a) SO (b) 20
{c) 25 (d) 40
Th WY Q) Tl &1 Sl hamr 2
(a) eI (b) Vv
(c) St (d) WS
Wﬁm%ﬂm%@awﬁnﬂm
et 2
(a) skl s R FfR
(b) WET @1 F Hrw qfR
(c) F=i & R 3R
(d) IR F wff T e
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¥ EEST -
e, In the centrifugal pumps, the Eyje;’ '
7 s independent of the following ¢rs head | pg, T HgaHIEh T ¥ e wfd qaa e A a2
(a) Inlet radius of impeller (a) At F T 6 e B
(b) Outer angular momentum (b) arell Fvfi Tifa /@
(c) Outlet velocity of triangle () Brgst =1 arEd 3
Qutlet radius of i . »
(@) URecs () M@ e arE H arEd e
107. Aerosol is known as % £
: 107. TG &1 39 B
{a) Carbon particles of microscopic size FTa HV & gEgd T
(b) Finely divided particles of ash (@) A
(c) Diffused liquid particles (b} TE % g&H ferrfaa =01
(d) D_ispersion of solid or liquid particles in c} &9 ol &1 fes
ar (d}aﬁvmﬁamﬁmmﬁﬁaﬁ
108. Based on ‘30”1’ hourly volume, for how | 108. ‘30 g ureT A W AT famaar gfasa I9d
much percent time during the year can the w A 8, AT Hes g g9 o IHH]
designer willingly tolerate the unfavourable E(__rm ,'E-;T
operating conditions ? TE Y
(a) 0.33 (b) 30 (a) 0.33 (b) 30
(c) 5.0 (d) 2.5 (] 5.0 (d) 2.5

w%ag:ﬁamﬁaﬁwamérmﬁaﬁma

109. The ratio of the quantity of water stored in 109.
the root zone of the crops to the quantity of #, ferA T =71 T 8, IR HIIE F FEA o

water actually delivered in the field is known
as (a) TR ATEF BT
(b) 9t IR Q&

(a) water conveyance efficiency
{b) water use efficiency
(c) water application efficiency (c) wrl 323'1&“[11 GEfdl
(d) none of the above (d) Iq0ad 1§ I8 AR
110. Which of the following is a secondary air | 110. frefafen § @ s ag ygvs FH-H1 8 7
pollutant ? (@) FTET TIAIHTFETES
:3 garbon monoxide (b) i
mog
(c) Fly ash (c) e 1
(d) Carbon dioxide (d) HTsH STEATHATS
111. If 5 day 20°C BOD of a waste water sample | 111, afe wgfire 5= e :ﬁ@ @1 5 feg 20°Cc BOD
is 127 mg/L, then the 8 dgygs?g’ﬁf"” ﬁf 127 fram. /&, 2, v s w0 = 8 f@ 20°c BOD
. pfw = 0.23d7! (base e i -
the same sample is (if & 2 7 (AR K = 0.23d" (IR e) B)
(a) 146.3 mg/L (b) 166.3 mg/L (a) 146.3 fam. /eft.  (b) 166.3 ., /<.
(c) 162.6 mg/L (d) 156.3 mg/L (c) 162.6 o, /e, () 156.3 fram. /=i

112. The product of H™ ions and OH ions in a | 112. TH wfFqencht & § H' ¥ 9Y1 OH™ 3 7
stronger Alkali is TOA%E BRI 8
(a) 0 m) 10 (a) 0 (b) 10
(c) 107 (@ 1 (c) 107 () 1

D -19-



113. If ' is the focal length of cameé

114.

115.

116.

117,

118.

119.

ra and 1’ is

the tilt angle, distance of the photo nadir

from the principal point will be
(a) t sin @ (b) tcot®
(c) ttan 8 (d) tcos®

For analysis of direct runofffrom a hydmgrap_h,
the relation N = 0.827A°2 js used. In this,
the value of area ‘A’ is taken in units as

(a) Cm?

(c) Km?

(b) ha?
(d) m?

Sludge bulking can be controlled by

(a) Chlorination

{b) Denitrification

(c) Aeration

(d) Coagulation

A hyetograph is a graphical representation of
(a) Rainfall intensity and time

(b) Commutative rainfall and time

(c) Discharge and time
(d) Rainfall depth and time

The maximum value of centrifugal ratio on
roads and railways, respectively are taken as

1
(a) }/4 and % (b) % and 18
(c) yﬁ and 18 (d) None of the above

An unconformity is

(a) A surface of erosion or non-deposition
as detected in a sequence of rocks

(b) A type of joints especially associated
with folded and faulted rocks

(c) Alayer of clay or shale in an igneous mass

(d) Alayer of boulders and pabbles in a
sequence of rocks

The zero graduation in a prismatic compass
is marked in the,

(a) North end of the circle

(b) In the West end of the circle
(¢) In the South end of the circle
(d) In the East end of the circle

113,

114,

115.

116.

117.

118.

119.
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‘Tﬁ‘r’é;qia?rtﬁlﬂ@%?’mfwm%’
aﬁg@ﬁ%ﬁqﬁaqﬂ{nadir}aﬁ@?ﬂﬁ

(a) t sin g (b) tcot ¢

(€) t tan @ (d) tcos®

T BT & e IR Rl ¥ Wy
N = 0,827 p0 21 FFT fobT TR &1 TET &1
A% fare g At §

(a) T2y 2 (b) T2

(c) T 1t 2 (a) #1.2

TR (hyetograph) U T@iHE Hivveafed &
(a) FY9 <figar auT g

(b) ATHA GEU7 qoT T

(¢) e awr a1

(d) T TEUE JUT THE

Hgh qUT T W HThes1d AT 1 e

oM &

@ Y @ Ve ) Y own Y

© Yo @ 14 (q) ST H @

Teh TGl (unconformity) 3

(a) S % THA H T TC &or Ar R-Fdo
%I ¥ag

(b) Tsh g 1 SIS fIRIwaR Fel hies 71 HIee
areft =g &

(c) 3T gequm § i) o ¥ Y wa

(d) Tl & %0 I dost 3N Fhe H T wd

v Rt sura 3 s was w fafea e

™ 3

(a) T 1 Il BR

(b) g4 & ufaw SR

(c) I 1 & BR
(d) 99 #1 gd BR




\ng%
120, The mechanical extra wideni

10.5 m wide pavement on a ho
of radius R meter is given by

1? 312
(a) 3R (b) o
212
— dy —
(C] R ) 3R

where, 1is the length of whee] base of the

vehicle in meters.

121. The permissible error in chaining for

measurement with chain on hilly terrain is

faj 11in 100
(b) 1in 1000
(¢) 1 in 500
(d) 1in 250
122. Hypsometry is a method of

(a) surveying of water bodies

(b) determining elevation based on the
boiling point of liquids

(c) finding temperature at different height

{d) measuring distance

123. Which of the following is one of the factor | 123.

influencing the provision of camber ?
(a) Topography

(b) Drainage

(c) Sub-grade characteristics

(d) Amount of rainfall

124, Calculate the super elevation to be provided | 124.
on the horizontal curve of radius 100 m.
Design speed is 50 km/h and the design
coefficient of lateral friction of 0.15 is fully

developed.
{a) 1.0 (b) 0.047
(c) 0.337 (d) 0.917
125. Indian Road Congress was formed in the | 125.
following year
(a) 1929 (b) 1943
(c) 1939 (d) 1934

N requireq for
Tzonta] Curve

121.

122,

EEST - 04
120. 10.5 . S FEA v, i v afew % R A
e 1 &, W5 srffaa <iterd fmifea

r* 312

(a) R (b) R

I’ 2P

{c) 1 (d) =

w8l 1|1, T e % ofEmr-anum 6 ererd 2

TETS! ¥ W wle grn A v g f s 3fe
BIl 8

(a) 1001 1

(b) 10004 1

(c) 500 H 1

(d) 2501 1

(a) 5@ fAsTET 1 w0 HE

(b) F&1 & FIUYAH b IMUR T Ha13 w1 Fyhw
(c) Taft=1 S=md W a9 am

(d) g e

Frafafiaa 4 @ $F-w1 Frat F yevm = vafag
FH I FIR H Y T B 7

() TR

(b) A=Y

(c) 39 Hife 6 frwam

(d) stfm <Y 70

100 #t. &t B % @t % W wem & 91
arell aTRrieeT (super elevation) ! TUET Y|
fesms < e 50 fop.f. /901 2 31k 0,15 % Tigd

T &1 feamga oiies wit @ § Rl 2

(a) 1.0 (b) 0.047

(c) 0.337 (d) 0.917

R Weeh il i v g ad & 6 o of
{a) 1929 (b) 1943

(c) 1939 (d) 1934
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